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1. G faun feama =
(a) 9017H@memmgﬁwﬁwmwmiﬁ AT A A o,
(b) 2017 Wefra <A HaAi{oeR oS ROMRAE] =H, SR, O i et e @
T T SR i Aae ScasAe fewd 58 ZaRh 3.
(c) S IS e MrarE few 15 2966 3,
TSR FI0A fauH /3 ST 31e/q?
(1) TheKT (a) (2) () T (b) (3) W (b) 4 (), (b) S (o)
Consider the lollowing statements :

(a) India is the fourth highest emitter of carbon dioxide in the world in 2017.

(b)  The top four emitters in 2017, which covered 58 percent of global emissions were
China, USA, the Furopean Union and India.

(c) India covered 15 percent of global emission.
Which of the above stalements is/are correct ?

{1y (a) only (2) (a) and (b} (3y  (b)yonly 4} (a), (b) and (c)

2. Wfeo 9 AofadE HAGAH FI0H STHGEET G0 e o 378 A0S hedERa Hiss S
(1) SHE-HisR (2) SHE-W# (3)  SHe-<Ta4 (4) Fem-=iad
Which online portal has been launched by Women and Child Development Ministry to enable
women employees of the Central Government to [ile complaints related to sexual harassment

at the workplace ?
(1)  SHI-Power (2)  SHIE-Protect (3} SHe-Box (4) TFem-box

3. GO ﬁmﬁ fa"mﬂr aﬁé dﬂ%'7
(1) = WA A1 el Tehedren W WUE 2020 THa SEgRl S IR i
rafaes S et
(2)  Td= FEA diFgET W FEFAEE T 10,000 FEE WS TR SO 38
(3)  THTAET YehedTHl SO GaueHE A1 72 P At qduym Het el
(4) R THE AR
Which one of the following statements is incorrect ?

(1)  Two Indians will be sent to space by 2020, as part of India’s ambitious Gaganyaan
project by 1SRO.
(2)  The Union Cabinel recently has approved a budget of T 10,000 crore for this programme,

(3)  The announcement of the Gaganyaan project was first made by Prime Minister on
India’s 72" Independence day.
(4) None of the above
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4. 'gF S A9 |Ed qeeden! S fAeE/ T s e ?
(a) 2015 WA § U Y& A,
(b) ‘el F=EN A< Helall’ TG 6 IS W 3.
(c) Woi=n foor=n @ qHiee cuaEdd a9y | Saey 31 ANHeTwd SavasE o,
(d) = GHeiad qoi=n faapmEE @ aae T

Which of the following statement aboul ‘Sukanya Sammruddhi Yojana® is/are incorrect ?
(a) It started in year 2015.
(b) Itis a part of ‘Beti Bachao Beti Padhao” Campaign.

(c) Tt requires to open special post account for meeting to expenses of education of girl
child only.

(d) It does not cover expenses of marriage of girl child within its fold.

Tt 39 /Answer Options :
(1) (@) b (o) (d) (2) (b} (), (d) (3) (&) (d) (4) (d
5. 2018 =N TR qRERNEE el S
et &=
(a) SR, ArTEErHl (i)  Hieca-faemm
(b) AT W A (i) e - Hid
(c) owfae Uit (iii) RIS
(d) =By (v) e - Tfasse
Match the pairs about ‘Padma Bhushan” Awards 2018 :
Person Field
(a) R. Nagaswamy (i)  Literature - Education
(b) Ved Prakash Nanda (ii)  Art - Music
()  Arvind Parikh (iii) Archaeology
(d) Laxman Pai (iv) Art - Painting
it 39T /Answer Options :

@ (b) () (d)
(1) (@) @ @)
() @) (v) i) (i)
(3) M G (i)
(@) G (v) @ (i)
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6. WIS BN U Teha AR 7
(1) gt 3o sfer Il e e e 'O I A, 2017 98 e e,
(2) ot sl M GgFa TeHHE AHEHd 193 ¥ 183 99 fre.

(3) 1945 TR ST TSI T SEANEH A =rareard faEh = st T
A B Ul 9w IR,

(4) TRT UHL AR

Which one of the following statements is not correct ?

(1) Mr. Dalveer Bhandari was re-elected as a Judge of the International Court of Justice in
November 2017.

(2)  Mr. Bhandari received 183 of the 193 votes in United Nation's General Assembly.

(3)  This is the first time since the International Court of Justice was established in 1945
that there will be no British judge in IC].

(4) None of these

7.  GtGUH! B faum Siee A ?
(a) Tifecy eThEHIET ST ATE 1954 T S AR,
(b) Hee A srfufay 1860 =0 siata el U Hen U 1956 ALl FHd 3,
(¢} N T Yo 39 AR,
(d) STHEHM 24 W IR feoe AR,
rﬁﬂﬁ w :
(1) ™ (a) (2) WH () (3) (o) W (d) (4) " (b)
Which one of the following statement/s is/are not correct ?
(a) The Sahitya Akademi was founded in March 1954.
(b) It was registered as a society in 1956, under the Societies Registration Act 1860.

{c) Its head office is in Mumbai.

{d} The Akademi has recognised 24 languages.
Answer Options :

(1} only (a) (2) only (c) (3)  (c}and (d) (4} only (b)

oAl HIEMEG 90T/ SPACE FOR ROUGH WORK PTO

www.adda247.com/mr |  Adda247 'FRTopprp | https://t.me/Adda247Marathi


Dhruv Vashisht
Line

https://play.google.com/store/apps/details?id=com.adda247.app

V12 b A

8. Ha3 weuHaH) (R faumitet ive faum/faum arad s Rq ?
(a) T & Formeien s e SO ST e e A,
(b) HE IS IR TG T TS {5, JER, Uga anfn sifera,
(c) TieR, WgaR onfin figdt fen=n 9 geul domagd .
Which one of the following statement/s regarding Mumbeai city is/are false ?
(@) Mumbai is the world’s only city with a Leopard Habitat in its centre.

(b) Mumbai city has four major rivers i.e. Mithi, Dahisar, Poisar and Oshiwara.
(c) The Dahisar, Poisar and Mithi rivers originate from the Tulasi Lake.

Qi 9L /Answer Options :
1) () (2) (b) 3 (© 4 (@) ©

9, MIANY MEAN E oo ‘3-98 ' TE= IRo HIEeHid 38?2
(1) sFeR" aEe sivure
(2) oFORA sTgdRIfaTa wfEw
(3) oA sTgAeren simgrgsyTE Arigy
(4) -0 v, gridl, = anfu srEE I et
What is ‘e-charak’ portal started by Government of India ?
(1) Online ayurvedic drug shoppee.

(2) Online magazine about Ayurveda.

(3) Online consultancy for Ayurvedic medicines.

(4) e-Channel for Herbs, Aromatic, Raw material and knowledge of Ayurveda.
10. ‘3@’ (PENCIL) eRA U0 & = YU HGSSTAUEE! 3T,

(1) oS TSR FRAS 3 U 913 A Jahe]

(2) ST RAithd N wadoar frgrom=n siFal, (RTE) 2009

3)  Ukifedeh o fashmE qa

(
(4) SR STEMERITGT o TR0 SEE
‘PENCIL’ is a online portal for effective enforcement of the

(1) Child Labour Act and National Child Labour projects.

(2) The Right to children to free and compulsory Education (RTE) Act, 2009.
(3) Integrated Child Development Services.

(4) Protection of children from Sexual Offences Act.
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11. 1 afehe, TREEF THATNEHR FRiwal T hgart 2018 T My e,
(1) femaEr 2) 3T SRR
(@) wfe (4) FoEvE
a Lawyer, and a Pakistani Human Rights Activist passed away in February
2018.
(1) Hina Khan (2) Asma Jahangir
(3) Khalida Bhutto (4) Noorjahan Shaikh

12. fediat 2017 wed Firr=n Aibd QoGS HIel 3 ditghias g’ (Intangible Cultural
Heritage) &Y A=l Tt sme?
(1) @m (2) F A
(3) TS (4) ¥ TA (Chhau Dance)
In December 2017, which one of the following has been recognised as ‘Intangible Cultural
Heritage” by UNESCO’s Cominittee ?
(1) Yoga (2) Kumbh Mela
(3) Ramlila (4) Chhau Dance

13. TESts! B T SCont’ g He/a?

(a) Yt famer afsg (b) I Wl
(c) JUTTHHHH (d) THHR qfwg
ﬂﬂi‘d’f I :

(1) @ (b)) (2) (b) () ¥MA) (3) (c) 3 (d) (4) o wd

Which of the following is/are associated with ‘climate change’ ?

(a) Earth Summit (b) Kyoto Protocol

() UNFCCC (d) Ramsar Convention

Answer Options : ,

(1) (a), (b)and (c) | (2) (b), (c)and (d) (3) (c) and (d) (4) All the above

14. AIRITS 9d WHETH F9Rat Fosaior Hifgm FHIomy afeer YRdE S g ?

(1) T ¥y (2) UsFHR

(3) HRYTS WS 4) v o

Who is the first Indian to complete the ocean’s seven swim marathon ?
(1) Taranath Shenoy (2) Rohan More

(3) Veerdhaval Khade (4) Ashwin Menon
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15. QOS] FIG T S qied geiaeas T4FGUE gee wom Sonde 1fes g a9 a1 ?
(1) e (2) USTE (3) WiAeTg (4) N

Which among the following has become the first state in the country to provide women an
injectable contraceptive for free ?

(1) Gujaral (2} Rajasthan (3)  Tamil Nadu (4) Maharashtra

16. @ad UF Hed |t T 1 B HOAE SATH Bl
(1} el foshgiehonera! Surs afao.
(2) wmiesk foFE FrEAr= Suen sifus FETTa STTH T IurEEreT g,
(3) RIS THIATHA =1 shrfahisl Aifed! fHesfem.
(4) RIS WAYATI AT LI 3Tfeler @it TuRoT i,

The Balwant Rai Mehta Committee was set up for the purpose of

(1) suggesting measures for democratic de-centralization.

(2) suggesting measures for better efficicncy in the implementation of the community
development projects.

{3) reporting on the working of the Village Panchayats at that time.

{(4) investigaling the adequate financial resources of the Village Panchayat af that time.

17. HRRIAS 42 Magoed uamed Foious] FHod faum et 578 ?
(1) d=foEg AfavardrE= atd SH-gaEivl Hewr= nfden e wied Jom -Tel.
(2) AlaarET=n aue Hs BUaraE! dH-Squte sgHaT sTevEsal 319,
3y R AfaverHE U HeTed e T S Jad Ol Jigdl AU el
(@) wdwTen SRS AETEN auld SAYEIETE 3iE A JU el

Which one of the following statements is incorrect aboul the directly elected Sarpanch in
Maharashtra ?

(1)  No-confidence motion cannot be moved against the Sarpanch without the approval of
two-third of the members.

(2)  No-confidence motion required to be passed by three-fourth majority.
(3} If the no-confidence motion is rejected, it cannot be tabled for two years.

(4)  No-confidence motion cannot be moved during the last year of the Sarpanch’s tenure.
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18. YEiaiH ®ivR faum g o 1% ?
(a) fret s et (NITI) oSt oo $ieEa]e B Zrawmiin gfear.
(b) 1 SHERS 2015 VST = TG Fel.
(c) Tawe™ = et SEnT Steas IEAm.
Figr 39
1) () (2) () @) © (4)  HIOTHE!
Which of the following statement is wrong ?
(a) NITI Ayog stands for National Institute for Transforming India.
(b) It was founded on 1% January 2015.
(c) Prime Minister is Chairman of the NITI Ayog,.

Answer Options :

0 (@) @ ® 3 (© (1) None
19, wEtH! SO SISl faeew R ?
(1) HogE FfE FoT 8]
(2) Ul e fergueh =t g F:H 54
(3) V@ ST Foq 64
(4) T HEFTEETE] FOH 76
Which among the following is correctly matched ?
(1) Constitution of Parliament Article 81
(2) Manner of election of President Article 54
(3} The Vice President of India Article 64
(4) Attorney General for India Article 76

20, WS MY o =
(a) RGN ToIE2Ad Wood TATHIEt 30 el e ool 3,
(b) I=a AT FAEOS faedt 71 hewfad Jev e,
(c) YaW Ivd RTGITE TUTI-T HaUAH 1862 ALY L.
(d) TS Hl@M T FO ASEEE Iod ARG § S¥die D) $o7 TRy 3.
e s faum,/ faum femees amea ?
(1) % (a) ) (b) sy (@) () () (4) wd
Consider the following statements : ,
() The Constitution of India provides for a [High Court for each state.
(b) Delhi is the only Union Territory that has a High Court of its own.

(c)  The institution of High Court originated in India in 1862.
{(d} Allahabad is the fourth High Court established in Pre-Independence period.

Which of the above statements is/are correct ?
(1)  Only (a) (2) (b} and {c} (3) {(a) and (d} (4)y Al
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21. WAGUH] RV TS] TFTS FTw5% -164 AL 37184 7

(a) Y& TAUeRed FgH ol SEe 7 S HAl {UU@ehed JEH=EAl Heedar
g & St

(b) T yerEAEE ! Ahfives Te fola e Fwefa € e wie sH.

(c) Hifve war=n favraiy Igifsien SEEERr 1690,

(d) wFmiRdT Terdred TRU HATE! S T faum 99de The HHEe S8l T
TFFITIET ATHE AU 6.

Which of the following are the provisions of Article-164 of the Constitution ?

(a}  The Chiel Minister shall be appeinted by the Governor and the other Ministers shall be
appointed by the Governor on the advise of the Chief Minisler.

(b) It shall be the duty of the Chief Minister to communicate to the Governor all decisions
of the Council of ministers relating o administration of the state.

(¢} The Council of Ministers shall be collectively responsible Lo the Legislative Assembly of
the state.

(d) The total number of Ministers including Chiel Minister shall not exceed fifteen per cent
of the total number of members of the Legislative Assembly of the state.

ATt S /Answer Options :
(1) (@), (b}, () (2) (b}, (c). (d) (3) (@) (. (d) (4} (@) (b), ()

22, YRAIRNEE 374 HIVE Bhwel T {HHSAHE ARSI Togd faeail ant gafae Fel
e ?
(1) 3 (2) YA (3) e (4) W

Apart from Indian Constitution, which Democratic Constitution in the world contains a list

of duties of citizens ?

(1) USA (2) Japan (3) Canada (4) Trance

23. YA SAHMR TR HeATIHT SIS v ATwscl{HR Tsrdrei A e faaenitemm
WIed BT

(1) T=RF. 152 (2) =a F 154 (3) RS & 160 (4) FT=HT H. 163

Which of the following article envisages discretionary powers to the Governor of a state in

certain matters as per the Indian Constitution ?

(1}  Art. 152 (2)  Art. 154 (3)  Art. 160 (4)  Art. 163

e HIMTETS A/ SPACE FOR ROUGH WORK
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24, R BHMEE AIHYT HO W WS GuF/fAun S et sTEET ARl HIvd A

ezl

() T anfor FyaemErd g (b) =HIE WA

(c) HICUEETHY T (d) HITAHHR TN

ggfet 3T

(1) TR (a) (2)  (b) 3T (c) (3) TR (c) (4) (a) 3T (d)

If Democracy evaluated then which of the following statement/s is/ are not applied to the
democratic system, identify it : :

(a) Free and fair Elections (b)  Prestige of person
(c) Government of minorities (d) Equality before law
Answer Options :

(1) Only (a) (2)  (b) and (c) (3)  Only (g) (4)  (a)and (d)

25. YRIouH! g g yat fasn

fama wfererrrdte et
(a) e suftr sRistm =1 Hera T =t
(b) TR @ (T ATRY) S50 G e gl
(c) s BERR
(d) wd W= wd fespmomra dief = T g
Find out the correctly matched pairs.
Subject List in the Constitution
(@) Relief of the disabled and State list |
unemployable
(b)  Post oftice saving banks Union list
(c) Banking Union list
(d) Pilgrimages of all Lype, of all places State list
it IAL /Answer Options :
1) @, ®, ) @ @) @) ®)
(3) (b}, () (d) 4)  (a) (b), (d)

e ——————
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26, HAI MG TER Al GGG Hon Jauail M+ 7ed Hol gl ?

(a) fas=t we (b) T HUS] (c) A (d) =
i 3T

(1) (a) e (2)  (a) ST (b) W

(3)  (a), (b) MM (c) 4 (@), () (0) (d)

To which of the following newspapers Chhatrapati ‘Shahu Maharaj” had supported
economically ?

(a) Vijayi Maratha (b) Tarun Maratha (¢} Katvari (d} T
Answer Options :
(1) (a) only (2) (a) and (b) only
(3) (a), (b) and (c) only @ (@), (), ), ()
27. Hdren AP e waEE! | wowd 9 gasd ededn e aE wifgan
fea.
(1) = v (2) WIS TSl v
(3) TTRMS ST (4) oS HEH
In Bombay ____  supported John Malcolm in his efforts to put an-end to the practice
of Sati.
(1) Nana Shankarshet (2)  Bhau Daji Laad
(3) Balshastri Jambhekar (4)  Bhau Mahajan

28, TRIGUS! FIVEH KA AT yww fofed ?

(a) IS B (by SIS HHE

(©) &l Hyas (d) A S el

TatE S

(1) (a) =1 (b) ok (2)  (b) emfvr (d) T

(3)  (a) AT (c) TF (4) (@) (b), (c) A (d)

Who from the following persons wrote the books useful for the schools ?

(a}  Kashinath Chhatre (b) Jagannathshastri Kramavanta
(¢} Hari Keshavji (d) Captain George Jervis
Answer Options :

(1) (a) and (b} only (2} (b) and (d} only

(3) (a) and (¢) only (4) (@), (b), (©) and (d)
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29, g TERISIHT Fa FIehTER U IO e 7

(1) wefRETE 9E Afes (2) EIYETe THER

(3) HEITeRiE SR (4) HRMmETE R8s

To whom did Shahu Maharaj appoint as the new Shankaracharya ?

(1) Sadashivrao Bhau Bokil (2}  Sadashivrao Bhausaheb

(3) Sadashivrao Benadikar (4) Sadashivrao Athawale
30. ‘Wi WehR v AT _ i e

(a) Afa. Few: (by HEA HeA Al

(¢ @ afaga (d) SEAE LA 0

Taigt Y

(1) (a) ST (b) ks (2) (o) SN (c) o

(3)  (a), (b) 3 () Tk 4) (@, ®) (©) d)

- contributed in the foundation of ‘Responsive Co-operation Party’.

(a) N.C. Kelkar (b) Madan Mohan Malaviya

(c} Dr. BS. Moonje (d} Loknayak M.S. Aney

Answer Options :
(1} (a) and (b) only (2} {a) and (c) only
(3) (@), (b) and (c) only (4} (&) (b), (0, (d)

31. 'SeeA’ TErdn et fage wivf Tegn et a2

(1) W o (2)  HeEH NN (SR

(3) fagige (4) SSURT FHIOME A

Who had organized the Tribal Revolt ‘The Ulgulan’ ?

(1)  Santhal People (2) Sambudan Naga (Magician)
(3) Birsa Munda (4) None of these
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32, 28 fedieRr 1885 sl wioed UE el Ul HETAE I sUs Afyerl st 87 ?

(4) of gm, oS w34 9 faeam dew

Name the British officials who were present at the first Session of the National Congress held
on December 28, 1885 ?

(1}  Allan Hume, Henri Cotton and William Wedderburn
(2)  Allan Hume, Viceroy Dufferin and George Yule
(3}  William Wedderburn, Viceroy Dufferin and Henri Cotton
(4) Allan Hume, Lord Curzon and William Wedderburn
33, '@ T faen' | e faaoede dw A YA WY FNS B,
(1) ww (2) T (3) TR (4) AR
“Stri Shikshanachi Disha” an article on female education was published in the
newspaper_
(1) Kesari (2} Darpan (3) Dhumketu (4} Rashtraveer
34. 1911 B4 SRR A9 Gy GRS @ #0799 e ga9dT g Ael= - 7
e s s %9,
(1} 9ERad e (2) STUUTHRY T3S
(3) BRI == (4) T EW
In 1911 Chhatrapati Shahu Maharaj established a branch of Satyashodhak Samaj at Kolhapur
and appointed ____ as its President.
(1) Bhaskarrao Jadhav (2) Annasaheb Laththe
(3} Haribhau Chavan 4) M‘G‘. Dongare
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35,  WRAW TST HEE Gt SR afvaws et A9 smifea Fvam et Bt ?

(a) TgH - 1885

(c) foum@ - 1904

Whﬂ 3;& M

(1) (a) 3 (b) T

(3) (), (o) ¥l (d)

(b)

Tr=d - 1889

(d) THfTEE - 1915

(2)
(4)

(a) S0 (c) e
(@), (b), (c). (d)

Which of the following Sessions of the Indian National Congress were organized at

Mumbai ?

(a)  First - 1885 (b) Fifth - 1889

(c) Twentieth - 1904 (d) Thirty-First - 1915

Answer Options :

(1)  (2) and (b) only | (2) (a) and (c) only

(3)  (b), (c) and (d) only 4) (@, (b) (o) (d)
36. el ool ;

(2) | S @

(b) .. FRER (i) @S]

() fau R (i) ¥

(d)y ME IIwE (iv) THre

Match the following :

(a) M.G. Ranade (i) Pune

(b) G.G. Agarkar (i) Jamkhandi

(¢) V.R. Shinde (i) Tembhu

(d) G.H. Deshmukh (iv) Niphad

it 39 /Answer Options :
(@) (b} () (d)

1 @ @ @ @

(2) ) @ @ @)

3 ) @ @ @)

() O @ @@ )
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37. WEGYER! FIA A RIS 378 2
(1) w1 fagrT=a 7a wEmYR SEdn HARaEE @ foua Tr,
(2) 1765 TEA %2 Sfen Soien mERr=t feamft frere,
(3) @ FAAGH A 22 T 1793 UsH T8 FiaTa FEAHYRT G50 BF] Fedrel 9o Hal,
(@) e g0 faeand 997 1823 9@ sifawe tiag Foaet B S Fw,
Which of the following statement is true ?

(1) According to the Scholar Alexander, there is no principle of mercantalism in permanent
settlement system.

{(2) In 1765 East India Company was empowered with civil authority in Madras Province.

(3} Lord Cornwallis declared the permanent settlement system on 22 March 1793 in Bombay
Province.

(4) Pringale was appointed as Assistant Revenue Collector in Pune District in 1823.

8. T WRE WeAnie e foenfi gem,
(1) dfear v (2) SAFEISTE I oA e
(3) e e (4) TEE TS
was the first female student of Sharda Sadan.
(1) Pandita Ramabai {2)  Anandibai alias Baya Karve
(3}  Tarabai Shinde (4) Ramabai Ranade

39. 1919 A YRAA FEET F1IE TAR FI0AT Be drHhs 11 Yot HIut 7ad Hol ?

(1) <= JE (2) S g =g

(3) ferter amm (3)  TF=TE g

Who, from the following helped Lord Chelinsford to draft the Indian Administrative Act of
1919 ?

(1) Dadabhai Nauroji (2)  Netaji Subhash Bose

(3} Chittaranjan Das (4) Bhupendranath Basu
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40. wofEmaTRoG aveA A fawer = o Tefes.
(1) ST HEart (2) ST FUH
(3) dfewm wad (4) TIEE TS
wrote articles on the topics child marriages and enforced widowhood.
{1) Bairamji Malabari (2) Balshastri Jambhekar
(3) Pandita Ramabai (4) Ramabai Ranade

41. TOEUH gu faurme wald Sl agel S ?

1) (2) WED (3) Ha (4) =-Ae
Which of the following is the northern most Taluka in Pune Division ?

(I) Junnar (2) Maval {3y Medha (4) Chandangad

42. TRERTY SRS Hald 1S e HIow 2

(1) amdt gui @i (2) TeEd G

() FOmER (4) i ER

Which is the largest river basin on the Maharashtra Plateau ?
(1) Tapi Purna basin (2) Godavari basin
(3) Krushna basin (4) Bhima basin

43, HeWrE Y3l QH-ufvas el fhdt 31 ?
(1) 750 Tt 2y 850 Tt (3) 650 TehHT 4) 350 ferst
What is the East-West length of Maharashtra Plateau ?

(1) 750 km (2) 850 km (3) 650 km (4) 550 km
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(i)

(1)
(1)
(iv)

44, ST A

(S
(‘woit)

(a) T

(b) w9

(c) I

(d) Wl

Match the {ollowing :
Column-I
{Animals)

(a) Cattle

(b)  Buffaloes

() Goat

(d)  Sheep

I IAL /Answer Options
@ b (© (@

W@ @) )

@ O () @) )

() @) O (v) G

(4) (b @ (@) {v)

45. Sirel e

(wew/Ts)

(a) uf¥Em =2

(b) HEEH

(c) 7= ged

(dy anfom

Match the following, :
{ArcafState)

(a)  Western Ghat

(b)  Meghalaya

(c) Madhva Pradesh

(d)  Orissa

THRIT I /Answer Options :
@ ) © (@

(1 @) () vy (D)

(2) () (v) () (i)

(3) () () (v} ()

(4 (@ (B v) (

WY - 11
(FE)
HEHTH
fm

T (Gaddi)

=
I

ST

Column-I1
(Breed)
Mehsana
Gir

Gaddi
famunapuri

( TrHiaied oI e )
Fo
FH

el

{(Name of Shifting Cultivation)
Penda

Kumari

IPodu

Jhum
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46. HENIEH® WHGIH! AT WSl THGE Fahed Shivf ?

(1) wae (2) HE

(3) awom (4) THSIH A

Which of the following is the largest Hydro Power Project in Maharashtra ?

(1) Khopoli (2) Koyna

(3} Vaitarana (4) None of the above
47. TENSHIG Toe Ydd TTMe1 h IAEheH SEUHe attaT 378 ?

(1) vivymerRd, RS, 9rHles, TSdl
(2) TSIGl, W, TRYERTTS, WiHERE
(3) WEHi, MHeRY, BRTERE, aelal
(4) ISa, WA, YYHERY, SRYFRTS

Which of the following sequence of mountains in Maharashtra from North to South is

correct ?

(1) Shambhu Mahadeo, Harishchandragad, Satmal, Ajantha
(2)  Ajantha, Satmal, Harishchandragad, Shambhu Mahadeo
(3) Satmal, Shambhu Mahadeo, Harishchandragad, Ajantha
(4) Ajantha, Satmal, Shambhu Mahadeo, Harishchandragad

48.

EIERIRELR
wWa- 1 W - 11
(&) (@S faw)
(a) W (i) PRI
(b) wiFIZE (iiy FeTHIS
() TT@et (i) e
(d) FHEe (iv) TR
Match the following :
Column - 1 Column - 11
(Minerals) (Mines in Districts)
(a) Manganese (i) Kolhapur
(b) Bauxite (i) Yavatmal
(c) Limestone (iiif Bhandara
(d) Chromite (iv) Usmanabad
UgiEt 9L /Answer Options :
(@ () (0 (d)
O @ o0 @ 6
(2) (i) (@ @) (i)
G) @) @ (@) (v)
4) @) @) @ (i
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49. TENIEINS WiStedsh! HIod Wefies faum g s vy 34 ?

(1) HUSATE (2) oz
(3) dfv=H HerZ (4)  HiwW
Which of the following regional division of Maharashtra falls under rain shadow region ?
(1) Marathwada (2) Vidharbha
(3) Western Maharashlra (4} Konkan
50. el o
w9 - @Y - 1
( SIofeRId e ) ( fotemr)
(a) T (i) STBEGTT
(b) faX (i) TS
(c) wesmrEy (iiiy HIOT
(d) s (iv) IO
Match the following :
Column - | Column - II
{Hydroelectric Stations) (Districts)
(a) Bhira (i) Ahmadnagar
{(b) Vir (i) Raigad
(c) Bhandardara (ili) Solapur
(d) Ujani (iv) Pune
Tgidt IAC /Answer Options :
(@@ (b)) (o) (d)
W G v @)
@ @ ® O /i
@) G ® (v G
@ @) ) 6 G

51. 2011 =1 TTVFTAR HeRTer=l Thv Sehde fwd s ?

According to 2011 census whal was the total Population of Maharashtra ?
(1) 11,23,74,333 (2) 11,13,47,444 (3) 11,13,47,555 4y 11,13,74,222
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52.

~ \_ﬁ\_/ P
2 o
5\4@

aict TR HeRmidle U WewHE Aum srafaet Sie. @reiete] vk TaEsE faam sfo

TR () Srafaee fSe Jened atat + 1k
(1) g faum - wEw (2) ifereR fadm - Yo
(3) sirmmErR faum - siimeig (4) g favm - TefRS

The above map shows one of the administrative divisions in Maharashtra. Identify which of
the following administrative division and one districl headquarter marked by circle (O} is

correct ?
(1)  Pune Division - Satara
(3) Aurangabad Division - Aurangabad

(2)  Nasik Division - Dhule
(4) Nagpur Division - Gadchiroli

53. WISl Tl :

w - 1

( g7 )
CYRERIE @)
(b) e ()
(c} WRd (iid
(d) Hr@awer (iv
Match the following :

Column - 1

(Beaches)
(a) Ubha Danda (i)
(b} Nandgav (ii)
(c) Marve (iii
(dy Satpati (iv

TIfdt 3T /Answer Options :

@ ® © @
O @ 6@ @
@ 0 @ v @
@) ) ) @ )
@ G 6 @ @)

|H - 11
(fae)

3oy

et
Column - I1I
(District}
Thane
Raigad

Mumbai
Sindhudurg
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54. YT HERISZIE HioTdl 18T TR adias 3T 7
(1) 15°44' IW d 22° 6' TN (2)  15° 44’ TfHor q 22° 6 Tfegm
(3) 15°33' IW T 22° 8' IW (4)  15°33 gfEor § 220 8 Tfam
Which of the following, is the correct latitudinal extent of Maharashtra state 7

(1) 15° 44' North to 22° 6' North (2)  15° 44' South to 22° 6' South
(3) 15° 33' North to 22° 8' North (4) 15° 33' South to 22° 8' South

55. TRNIRH® Wotoyen! HIUH] 9o Waetqs amed ?
(1) =29 (2)  Fom (3) e (4) AT
Which of the following rivers in Maharashtra flows through a rift valley ?

{1) Ghatprabha (2) Krishna (3) Godavarn (4) Tapi

56. YIGTAT AN YEIGR S0= =41 2016-2017 TGS MM 9FERIAe Hearfar SRl Ham
FHHATT el

o9 ;AR SR, =, UE U, SSHivE, 3w, s, g0

(1) =, 95t R, gud, 3T, i, senfm, T
(2) FUHY, ¥4, 0L, di o, S H:f, R W
(3) 9, 7.UET, UL, 4 e, serfim, e, W
(4) FUHTE, 9 R, |, s, < HRE, 1.0, dEHtmn

Arrange in descending order of importance the following countries as India’s trading partners
for import in 2016-2017.

Countries : Saudi Arabia, China, U.5.A, Indonesia, South Korea, Iraq & U AE

(1) China, Saudi Arabia, U.A.L, U.S.A, South Korea, Indonesia, lraqg
(2) USA, China, U A.L, Saudi Arabia, South Korea, Indonesia, lraqg
(3) China, US.A, U.ALE, Saudi Arabia, Indonesia, South Korea, [raq
(4) US.A, Saudi Arabia, China, Irag, South Korea, U.AE, Indoncsia
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57. ST e AN & 100% M YRR Foet der o i EER W "ed
aer feet S

(1) TAEARS SEquor=1l H&id 9%

(2) eEdum SN FrBAIUHE Q&N

(3) T S SH AN STed Buars WH HE] ST e #fie W)
@) o Td

Janani Suraksha Yojana (ISY) is a 100% centrally sponsored scheme & it was integrated cash
assistance with

1) increase in institutional deliveries

(

(2)  delivery & post delivery care

(3} focuses on poor pregnant women having low institutional delivery rates
(

4)  all the above

58. uiHg fhdl = Tmre Hiuee’’ (2013) OGS H Tavess w7
(a) WiSAD! NI FRIQ
(b) WiSAS HdFTET I
() Towfaa S @9 eTammd=n 3eg
(d) faerameie SoTHe o9 STHAETl 359
" T et
(1) % (a) (2)  HH (b) (3 (o) (4) (o) o707 (d)
Thomas Piketty’s book “Capital” (2013) analyses the following :
fa) Advantages of capitalist economy.
(b) Disadvantages of capitalist economy.
(¢}  The rise of sharp income inequality in the developed world.
(d) The rise of sharp income inequality in the developing world.
Choose correct alternative :

(1) only (a) (2) only (b) (3} only (c) (4) (a) and (d)
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59, REA WETHALTS dgoht SN (BIe Yo hedl
(a) SSTHIHTG e W= GheT A g St (Es YT SHimig 3 3auw).
(b) TIET SRS W HIOATET ATl 5+ TSt e HeY whromat faem T,
(¢) Tamor 9 swmamEEt woem sAfaama Gat=n qoEw S,

FoTH F33/ T fauF/= SET 3Te/a?
(1) (a) M () F 2) T ¥
(3)  (a) 3T (b) e (4)  (b) S (¢) e

The Tendulkar Committee on Poverty estimates made following recommendations :

fa) Need to move away from anchoring the poverty line to a calorie based norm.

(b) Estimates be based on different reference periods for different commodity groups.
() Include private expenditure on education & health.

Which of the above statements is/are true ?

(1) (a) and (c) only (2)  all the above
(3) (a) and (b) only (4) (b)and (c) only
60. 3T FEROAT 1990-91 T 2012-13 J1 HISW @ SR Ieq_AH T _ EER
<iferd.
(1) fer (2) e
(3) aredt (4) TSI HIUTR AR
GDP growth rate after economic reform period during 1990-91 to 2012-13 was indicating
_ trends.
(1) stable (2) declining
(3) increasing (4) none of the above

61. TA,TH.TH.3. TR ' U1’ BV

it 99y
(1) (a) FohaT (b) oo AR (2) ®H (a)
(3) & (b) (4) T (a) I (b)

According to NSSO the term ‘labour force” refers to :

{a) Those who are seeking work.

{b) Those who are actually employed.

Answer Options : '

(1)  Neither (a) nor (b) (2) Only (a)

(3)  Only (b) (4) Both (a) and (b)
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62, AR dehil fEST Heiaie AEEUME T8 2010 HEA BR] Fowd WEnd X Hevimed el

IO e far=m e sl ?

(a) Teft ol == ‘ by T

(c) e Traar Wl SavaEdl A wE  (d)  FHIG S gL &2
it 3¢ :

(1) = & (2) (@), (c) ST (d) ok
(3) (), (b) 37O (d) @ (a), (b) 30 (c) ek

The base rate calculation by commercial banks introduced in 2010, for the purpose of lending
takes into consideration which of the following factors ?

(a) costof funds (b) repo rate

() cost of maintaining CRR (d) minimum rate of return
Answer Options :

(1) all the above (2)  (a), (c) and (d) only

(3) (@) (b) and (d) only (4) (a), (b) and () only

63. (a) TEIANA e AFufed/faa Aol (379 FRe) Siew I HaE for TEeT H.
b) ‘i frgie’ (‘ease Aw') ®oR Biew samit Yo Teamdd Wi Foar SiH gees

37
FhSUF! FI3/ T faum/3 s0aT JR/a?
(1) (a) S0 (b) =0 (2) T (a)
(3) T (b) (4) SCHIH FIE AR

(a) The purpose of MUDRA is to provide finance to non-corporate small business sector.

{b) The ‘missing middle’ implies a weak process of graduation of small firms.
Which of the above statements is/are correct ?

(1) Both (a) & (b) (2) Only (a)
(3) Only (b) (4) None of the above
64. YRG TEHR=A1 digae AfGwhearmey o7 THEY Bl

(1) e gt anftr sfefaa =
(2) wigad wiedt oo vigad =
(3) WegS Wi 3N Hegd T
(4) e we fast vl st e

Capital budget of Government of India consists
(1) estimated receipts & estimated expenditure
(2) capital receipts & capital expenditure

(3) revenue receipts and revenue expenditure

(4) all above three receipts and expenditure
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65. YRARIG THU T0ahT UK T (JHMHS) St s Fvamed ST 1R ?

(1) eI (2) Y=g (3) UE (4) ¥ERIY
Which state in India leads all other states in terms of deposit mobilization ?

(1)  Gujarat (2) Tamil Nadu (3) Punjab (4) Maharashtra

66. 1983-84 4 2011-12 AT HIANG he@lehI= vl HIVE 4q1 gatd 3ifess aw ?

(1) =T& <o (2) SiaTa

(3) iwid ) fed s fredt snfor 34

Which of the following liabilities of central Govt. are higher in total liabilities during 1983-84
to 2011-12 ?

(1) External liabilities (2) Internal debt

(3) Internal liabilities (4) RBI funds & deposits

67. fom siqeossd "o .
(1) Ao fon aom gasmere! fodi aaqe
(2) sifye fon AR waeERt foia atge
(3) wrEt fawm vy HoaEE! fada wg
(4) TS AR FHFEAEE! fodiE g

Gender budgeting means
(1) financial provision of more gender equal society

(2) financial provision for more gender unequal society
(3) financial provision to achieve human development
(4)

financial provision for equality of every citizen

68. WSS faHH T =1
(a) 3T e dfecar 9] ¥ Gt SUalo W aeel gl
(b) E (%] HEI) FE AR THU F ST T 1990-91 7Ll 84% Town 2.
(c) TIHY R S d WHU Y G TR 2016-17 T 51.7% FaF BN,

FISTH! Favs/FA faum/ A gant= 3Mg/a?

(1) =ie wd (2) W (b) (3) W () (4) IV AR

Consider the following statements :

(@)  During the first four decades of economic planning the reliance on commoedity taxation
had increased.

(b) It accounted for 84% of the tax revenue of the central government in 1990-91.

{c) The ratio of indirect tax revenue to total tax revenue was 51.7% in 2016-17.

Which of the above statement/s is/are incorrect ?

(1) Alltheabove (2) (b)only (3) () only (4) None
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69. Ta er@fea o WU 3T o At v WA R@d d w1934 = g
T TR,
(1) wu (2) e
3) fowm (4) olretE! FEE e
Non-Scheduled banks are those which have not been included in the schedule
of RBI Act 1934.
(1) second (2) first
(3) third (4) none of the above

70. WA TSI Ul sifan 319
(a) el ToReemlt qee g gefan
(b) TIMGE gEra ae
(c) =g WMERl® q2 FH 40
(d) srefamerE ! T
T S
(1) (a) S (b) (2 (@) (b) (0 (3) ™ () (4) W (d)
The ultimate aim of the Medium Term Fiscal Reforms is to :
(a) Bring down debt to sustainable level.
(b) Increase Fiscal Deficit.

(€)  Reduce current account deficit.
(d) Reduce subsidies.

Answer Options :

(1) (a) and (b) (2)  fa) (b), (9) (3) only (c) (4) only (d)
71. UEHAT RN fequm gt Iaiil 3EaT™ Greiaue! SIven iis e giom o1r ?
(a) 3THIES (b) HATERIV
(c) oichTa T (d) & e
IABUE 9y yaig fAae
(1) (a) 3 (b) e (2)  (a) (b) & () T
(3) (@) (b) () & (d) 4) (a), (b) & (d) ®

The beautiful rainbow seen in the sky in rainy season is the result of which of the following
natural phenomenon ?

(a)  Refraction (b)  Dispersion

(c) Internal Reflection (d) External Reflection
Select the correct option :

(1) (a) and (b) only (2) (a), (b) and (c) only

(3) (), (b). () and (d) (4) (@), (b) and (d) only
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72, W@ HOE fauT el ater wwd ?
(a) T § S STEA
(b) U FOT LA UM AEETRE 20 kHz 1 @rdan sifie s,
(c) ¥ TUN=H YHRUNHAGS] WA=l STaveehal 31,
(d) AFEaHTas s G MHeE (Noise) 2 ST
Tgiet 3 ;
(1) (a) =0 (b) (2) (&) ST (¢)
(3)  (b) ¥ (o) (4 () =T (d)
Which of following statements are true for sound ?
(a) Sound waves are transverse waves.
(b)  Audible sound waves have frequency range of 20 kllz and above.
(c} Sound waves require medium for propagation.
(d) Non-periodic sound waves are termed as ‘Noisc'.
Answer Options :
(1) (a)and (b) (2} (@) and (0)
(3) (b)and (¢) (4)  (c) and (d)

(a) WV Fondul U YNGR AT 5l HRAATd STam] o=l R Seedl.

(b) TSR] METHINY YSHTRITA] o7 ST Te] ST,

Q@I T T e

(1) fH9M (a) ¥ 37 @ A0TSR (b) § 2.

(2) FaEH (a) F (b) =T TH 3T 9T (b) T A ATY ST AT

(3) TIHF (a) FH AR T (b) HEH .

4) foum (@) 7 (b) S BT oTRA.

Consider the following statements : 7

{a) Lighlray changes ils direction when il passes from one lransparent medium to another.
(b)  The velocily of light is difterent in different media.

Select the correct oplion :

(1)  Statement (a) is correct and (b) its correct explanation.

(2} Statements (a) and (b) both arc correct but (b) is not ils correct explanation.
(3)  Statement (a) is correct but (b) is wrong,

(4) Slatements (a) and (b) both are wrong,.
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74. O Taaen HEG S AR TOHRIA 3T IHAe.
(1y 3 (2) 18 3) 8 (4) 32
The third shell of an atom can have a maximum of electrons.
(1) 3 (2) 18 (3) 8 (4) 32

75. THUHIT SHIEhAT STHSTT ST FHYTSTR 98 Geraqq T STHde w1 gayer faer e

i &4

2a, 3b, 4c

(1) 64,3 (2) 2,34

(3) 4,68 (4) TOTIHRT HIORE TR

Calculate the Miller Indices of the Face having the following intercepts with the three axes
perpendicular to each other :

2a, 3b, 4c¢
(1) 64,3 (2) 2,34
3) 4,68 (4) none of the above

76. W= faeoear 9fedy FORES TR 100 A fagd v 965 9. Fa yanfed Fan, W
(Na=23, C1=35.5) |

(1) 237 Hifead stArser fAd 2o 3nfn 35.5 7. SR ag=n FUeR Fod TR,
(2) 237 WifsaA Heiisa 4 IS it 35.5 9. FERA I sTHIER Fem TEe.
3) 237 Wifead Heirear f Te anfn 17,5 4. iR T SR fFem e
@) 23 7. fean e f8 o anfn 71 4. F8RA ag=n siieeR Fem e,

When a current of 100 A is passed through molten sodium chloride for 965 s, then
Na=23, CI=35.5)

1
2

23 g of sodium is deposited on anode and 35.5 g of chlorine gas is evolved at cathode

23 g of sodium is deposited at cathode and 35.5 g of chlorine gas is evolved at anode

— —

)
)

3) 23 g of sodium is deposited at cathode and 17.5 g of chlorine gas is evolved at anode
)

4) 23 g of sodium is deposited at cathode and 71 g of chlorine gas is evolved at anode
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77. wfeefcHasd 3T YRR Falad WU U %9 R :

(1) veawd, feuaemies, sifasme g
2) Teaw, fe@mmfes, afgome i
(3) Tocad, fryereies, faome g

(4) woaH, fruoreies, wEifaene g

Platyhelminthes are best described as :
(1) Flatworms, triploblastic, acoelomate animal

(2) Flatworms, diploblastic, acoelomate animal
(3) Flatworms, triploblastic, coelomate animal
{(4) TFlatworms, triploblastic, pseudocoelomate animal
78. Zfafavraamet e fhdt S e Teiist savashar a9 ?
1 @ 2) = ® @ 4 WA
How many parents are required during binary fission by amoeba ?

(I} Three (2) Two (3) One (4) Zero

79, R IS GHE G

1 % (2) EE (3) T (4)
Kuffer’s cells occur in :
(1) Brain (2) Kidney (3} Liver (4) Spleen

80. TeReshAToIkIEl ATOX FXAT] WIGISUh! iU sFfeli =1 FEAM forer e ?
(a) Torew gt 4ma fee (b) TeRehreErTE el

(c) fTweswmammEm=T aEn (d) T

Fliten] v faur,/ faer atay Ae/q7

(1) (a) e (2)  (a) ST (b) hea

(3)  (a), (b) 3T () T (4)  (a), (b), (c), (d)

Which of the following things should be considered imporiant while using insecticides ?
(a) Choice of insecticide’s type (b)  Efficiency of insecticides

(c) Dose of insecticides (d) Colour of insecticides

Which of the given above statement/s is/are correct ?

(1) (a) only (2} (a) and (b) only

(3)  (a), (b) and (c) only (4} {a) (b (€} (d)
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81. WISGIH TAEAHE RV Joued T ST T Tl sieel Mol 4R ?

(1) = - e IR, Wik, THUGR a1 wRfae A= vew
) wHfms - i@ = wes

(3) HERH - %hEF 3D, ATP, FTel Hefda A=l wedh

(4) TigE - hEd Rl IR

Which of the following element and its function in plants is paired incorrectly ?

(1) Nitrogen - component of nucleic acids, protein, hormones, co-enzymes.
(2) Magnesium - component of chlorophyll.
(3) Phosphorus - component of nucleic acids, ATP, some co-enzymes.
(4) Sulphur - component of nucleic acids.
82. ¢ EISIA] UHhes ST Ae seesial 7 frafienons 3uge .
(1)  STersE (2) TEEAfeE
(3) TR (1) I (2) (4) SSUH! RIVRE TR
______ microorganism is useful for asymbiotic nitrogen fixation in monocot plants.
(1} Azotobactor (2) Rhizobium
(3) Both (1) and (2} {4} None of the above
83. whq difteek of=ioemed vl HeM W,
(1) s W FH TATNT §&H qIWh T2k
(2) HH FSie it FEHU W YT Seee st @i (gew U ued)
(3) IRl THIUT e i S S
(4) I FolS

Nutrient Dense Foods are those that provide body with
(1}  Calories but relatively small amounts of micronulrients

(2) Substantial amounts of vitamins and minerals (micronutrients) and relatively few
calories

(3) Few vitamins and more calories
(4} Only calories
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84. TSI FUHA 7 GIOGUH! F3edl T HEFAE Hecel 9N &8 ?
() W s e EvhE
(2) U fawHsEL fEE0 wriwy
(3) T s g wEwn
(4) UL ug fEEm wEwn
DOTS programme is an important component of which of the following national

programme ?
(1) National tetanus contrel programme

(2) National typhoid control programme
{3) National tuberculosis control programme
(4) National AIDS control programme

85. WIATIR! HIG TEAMS Ferel AarHAcATEH B THIOE 3 378d ?
(a) oTHlerE® HIPE & M A =2 oids
(b) EMMEA 9 TRALHSA

(c) @EER T fe=mE

(d) e s 9 sfiers Hig

qarEr 39T

(1) ™ (a) (2} HH (o) (3) (a) 3TV (b 4) (o) f (d)

Which of the following chemical substances are authenticated as Neurotransmitters ?
(a}  Acetylcholine and Gamma aminobutyric acid

(b) Dopamine and noradrenalin

(c) Lysine and Histamine

(d) Pyruvic acid and Acetyl CoA

Answer Options :

(1) (a) only (2)  (c)only (3) (a) and (b} (4} (¢} and (d)

86. TH oIt I SreEl © A’ TgURT Tkt fae U =med o1e. ‘A7 feigarea Tm 3 | 9 e 4 4t
TS, TG U1 ldfiehe Jgd 4 W, Fow o W ol e gt 5 Hi, Feel ST
AMES S Tl ?

(1) 195 #t. (2) 10 . (3) 16 . (4) 11.40 .

Ram and Shyam both are walking in opposite direction from point “A’. Ram walked 3 m and
Shyam walked 4 m from point A. Then Ram turned left & walked 4 m and Shyam too
turned left & walked 5 m. What is the distance between them now ?

(1) 195 m (2) 10m (3) 16 m (4) 1140 m
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87. |

FUE ARFATa HITATIG SFA HITH 4 T« § YT o7, 9 ageerat HH Tedt foa1 Seiovm gam
fae.

In above figure the rectangle at the corner measures 4 cm X8 cm. Select the option which
indicates the radius of the circle in cm.,

(1) 20 ) 24 (3) 16 (4) 08

8. TS Wfed HIBSTIaT AT ST GTA I 20

P,Q R S T, U 30T V ¥ O WeN0% 37ed. Tehaivl Hifaersis, TETIFSIRS, Sewme, s,
T, . ST I Wi ATt i e fawe faefadaa aurft =/ ean fiesfedie o @,
TIHI AR ¢ Yaaradq vw-wa foaeil eefada wy o9 &Ae fiseag o8 @ R @
YA Siaare fernfar, S mrearas Yiaemere @ fawg firenfad), @@= siee faae, Q & i
forrfam, v & toad furstaar Wy weswes Thar sush frefaa 9@l U & s feash foeefa,
T SR foawlt S 71 srefvmen ferenfady, P &1 Hieeardt e forafadt, T & gusi fosaa -,
T & e fawe fornfaa ?

(1) TEEE () ifoesme

(3) wETE fohar wifaeneme (4) I

Read the information carefully and answer the question based on it.

The seven lecturers - P, Q, R, 5, T, U and V, teach seven subjects viz. Physics, Chemistry,
Biology, English, Mathematics, Economics and Geography. These seven lecturers teach
different subjects but not necessarily in the same order. Every teacher teaches only one day
from Monday to Sunday but not necessarily in the same order. R teaches Biology on Friday.
One who teaches Physics immediate on previous day of which, Q teaches Mathematics.
V teaches on Sunday bul not Chemistry or English. U teaches on which day, immediate on
previous day of which S teaches Economics, P teaches Geography on Tuesday. T does not
teach English.

Which subject does “T" teach ?
(1)  Chemistry (2) Physics
(3) Chemistry or Physics (4) Mathematics
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89. P,Q,R,S T UV o1t W € TS dig F&4 dialdR a900 e
G faum o9E =3 99 S HaeT
(a) P BT 1 SSEIINA gEU 31 049 dl R 1101 V =1 6 YN 2T,
(b) ST P = VSN AR
(c) V@ U INR TR,
(d) ‘Q =S 3T W = Ted Y, W’ T U anifor S =1 el e,

@S] R G YIS AT ?

Ly Uv (2) RP (3) SW {4) RV
P,Q, R 5T, U Vand W are sitting around a circle and are facing at the centres.
Read the following statements and answer the questions :

{a) Pissecond to the right of T. Also, he is immediate neighbour of R and V.
(b) S is not a neighbour of I.

() Visa neighbour of U.

(d) ‘Q is not in between S and W, "W’ is not in between U and S.

Which of the two are not immediate neighbour ?

)y Uv- (2) RP (3) SW (4) RV

90. FHP,Q,R,5aT& U= fish ¥dl. T & R Ul STH S@UIR & WA= S11a1 AHTof o dieh 37 d
T 9en a1 Yo i4d. P # R e et Yo i anfor Q e S ared. Q © T 9en ifies umol Av
T St Hald ! ST HOTAE gAY oTE. S Hatd i areunt aniftr wel fiepla s arearh wwrof
FIOM 3 90 WEid 95 U 4. R & P Uen afies amolt Anmom anfor 9 argum) b 31,
v e, Afies oA gl Fom st fa smed snfor faasme o= s e Qo
e eTea o Wi 9 faF fae.

(1) S PamuR (2) HEH Q (3) TwHE R (4) WP

P, Q, R, Sand T arc [ive crops that Babu grows. T is fast growing and more water demanding
than R which gives more yield than T. P gives more yield than R and grows [aster than Q.
Q is more water demanding than T but is second lowesl yielder, 5 is the slowest growing and
least water demanding of all crops but gives highest yield. R is more water demanding and
grows faster than P. Select the crop or crops that has/have as many as crops that are more
water demanding and as many as crops that give less yield than it.

1) S PandR (2) Only Q (3) Only R (4) Only P
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91. WA Tk WY AR, 1 WY doadie fauan vaoo oTe.  @r=d] & T Jaiare Wi 9
RS 3T 0 7 Uk BiaT STHSS T YA 3718, TR I THoT 39! A0 T4 v,

There is a pole in a pond. Half of the pole is embedded in the mud at the bottom of the pond,
above that one third part is covered by water, and the part having length 7 units is out of the

water. Select the option that indicates total length of the pole.

(1) 42 ) 35 3) 28 (4) 26

92, R HuTEdEl GV FHESS WA & Mg, et fifqt et e e anfin ge Herey e
a0 fauid wed T Rt oM. R Fiseiien @it IEie afaur e sidie ot fingt e

SR 791 frae,
(1) EA (2) St
(@) a9 @) o= SfaeREn difds Hd A

Three spies suspected as double agents and it is certain that the moles lie and other agents
speak truth, and there is only one mole among three. Select the option that indicates the
mole if on interrogation they replied as follows.

Ali : “Bela is a mole.” Bela : “Sara is a mole.” Sara : “Bela is lying.”
() Sara (2) Al

(3) Bela (4) There is no logical consistency in their replies

93. WG N0 oy A=A A=A 99 TUIRK 3 : 11 o1, o =1 faaren samen 12 96 @ o1e.
fm aa 7 gl 85 9 oo, R 31eE=ar afeoi 99 25 a9 319y WAl VNG 3R, o) SASa=
afeaig e 99 fardl ?

1) 67 7 (2) 43 ad (3) 45 a9 (4) 84 a4

The ratio between the present ages of Ajay and Vikas is 3 : T1. Vikas is 12 years younger
than Meena. Meena's age after 7 years will be 85 years. What is present age of Ajay’s father,
who is 25 years older than Ajay ?

(1) 67 years (2) 43 years (3) 45 years {4) 84 years
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94. X & e i fEam wod oR. ©N 1 SR foqe o, g9 Y 9 7 W <7 e Seeia
X THE ™ Aael. Y dearEl SRl X 91 TEer= 0 R, FHa X Feed ST 0.6 Hiel ™
fSeaa a1, Y W el 1/5 @ Z W SeorE S aREda WH WROe! 38, 89 Z & 9o
O qOTHUT 9T,

7, SeEode garen e o fae

A bottle X is filled entirely with lemon juice. It contains 1 liter of lemon juice. Hansa pours
juice from this bottle X into two empty bottles Y and Z. Bottle Y is half as big as bottle X with
respect to the capacity. After the filling operation, bottle X still contains 0.6 liter of juice;
1/5 capacity of bottle Y and half capacity of bottle Z is full of juice. Hansa fills bottle Z with
water until the bottle is full.

Select the quantity of liquid bottle Z has in litre :

(1) 0.1 (2) 0.3 3) 0.4 (4) 0.6

95, RSN X 3T, WU Y 3. S o X 7w, fram 7 o, Wy e z S uie Y SRR
. R Hd Aifed] 9 oW W ¥ faym faaer,

(1) Trae z 1@am, st X TR, (2) wen Y THaH, fiEe Z @
(3) T 7 sgem, et X AL (4) HIEU Y FEIMAI, TR X AR

When pink is X, white is Y. When pink is not X, yellow is 7. Bul white is never Y as long as
yellow is 7. If all informalion is true then select the statement which is true.

(1)  While yellow is 7, pink is X. (2) While while is not Y, yellow is not Z.

(3) Since yellow is Z, pink is not X. (4) While white is Y, pink is not X.
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96, W TN TeT faum 14 ¥ 18 o SENere fomnedtar Mo el SEA e WeHrEd
IEAT & ST 99T SR, F1 A 9T 3%A anfor 1T 912 e aew Sad & awaE d80 e
3T E Sfied STt

I Flaqario 2t wala TieaThi sa HU TF T4 el
(1) T8 ST Hoalerd A=A AT S ST,

(2) I SO STRGATENE! qHTed Tidl diedla Tue @FTd ATl
(3)  SITEHA] WU HIHTH .

(4) WRTEE et fiRol e gl T Seiiie e S AL

The Department of Education of one state is encouraging pupils aged 14 to 18 to learn Geeta
by heart in order to recite it at a school praying hall every day under the supervision of
experts in the field and receive a coupon for breakfast. This government initiative is designed
to boost the confidence of young people and increase their awareness about Indian philosophy
of life. By taking part in this initiative and by reciting Geeta, young people will imbibe this
philosophy and lead a peaceful life.

Select one option that best expresses the flaw in the above argument :
(1) Young people are already aware of the philosophy of Geeta.

(2)  You don’t have to recite Geeta to understand Indian philosophy.
(3} Awareness is not the same as understanding,.

(4) Learning something in order to recite it is not the same as being creative yourself.
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97, HTheS FIE TUG S DikiA] AAHO A IR H6 S ATRd,  SIhil gae el A=l ued
TG A FROM T A =R 3. T SR YRS aevar ged vl W O 9w aen
AI®,  FeAT RN Ui STTAl A0 T = iessl Il TAEE ¥ SR e SR, e
A TR FOYRTS] AEATE] IO R @, AEHe SetauraE R ey
TeoTE B B TR st TTagid S sTevas e oY 370 § Srhviel SaHr=ATe]
farredt oM.

i AfaaeK aTRee T 3T faare Fom faas fHaet

(1) =Eifie 9gse Aefaerai FreEm e et FUae g6,

(2) TS STedT ST T A7 S S Al Tt gal.

(3)  Tud @i THeansd SRSl == FETe TR HOAHIE] WEeE e e 72,
(4) TP SR WATTITTET W STUIEyd 76 STEie T &= WIeal &8 &l Ay 37,

Many people have taken up cycling in recent years. This is a welcome development because
it helps people to remain healthy. But people will not take to cycling if helmet wearing is
made compulsorv. There is risk in everything and people know how to care about them. [t
is not the role of the government to stop people from harming themselves. Forcing cyclists to
wear helmels is undue government interference in personal choices and is also against
democratic way of life.

Select the one that best illustrates principle used in above argument,
(1)  Professional cvclists should promote the wearing of helmets.

(2)  Recreational drinks or drugs should be legalised.

(3)  Alcoholics should not receive publicly funded treatment for their addiction because it
is too expensive.

(4) It is right for parents to be fined if their children are absent from school without
permission,

98. UF FIFIR FATAT ST FREAE Neramgraet awn 5 ff Wit e = @ 99 fhffe 3t
TEEL SR A 6 fRHl T Tee @ @ 9 A sast Wl @ w e S S
i $m ot feer
A person reaches his factory three minutes late if his speed from his house to factory is

5 km/hr. If he walks at speed of 6 km/hr he reaches the factory seven minutes early. Select
the distance in kilometres between his house and the factory.

(1) 4 (2) 5 (3) 6 @ 7
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99. WE aERTe s S avEe 97 fKoea dewia 99 Wy 9 wHE gt g e e En
FAS AW IRESIEl a1 VeEE Siet e,
SRS Y S Saard Wdes FuaTaat W oI e W i onfe et w5 5@ S g

CaGEGH ,
(1) @RUE (e%@), faeafia (2) Ty amfur sygmra
(3) AT s e (4) oTEETy Nt OTH

Select the pair of words or word groups that fit in each of the sentence to make two separate
and having equivalent meaning in given context.
While blood and human sacrifies performed to mollify the gods were ubiquitous in ancient

cultures, the Mayans’ propensily for sacrificing prisoners from neighbouring tribes
all the other tribes.

(1) engendered and expatiated (2) disquieted and affronted

(3) affronted and imprisoned (4) disquieted and condoned
100.

=i StearE! JE! = $ER fiwdel.

Above net is folded to get a cube,

Select the number of vertices of the cube at which exactly only two of the diagonal lines on
the faces meet.

1) 2 (2) 4 3) 5 4) 6

-00o0-
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Al — (U8 1 967 UQ.... )

[ =N

(®) Ty fafeq o fafire sri= = &M (T %) F0d.  TegfiahefaiiE Swafrar a1 Tt
FHRER el T Hedd o Hidl HI0are] I\ S A, 3 AFS 9w 9 AER SHRaeR. e
SR oo ahiHs] B TR Widse HvaTEreTs AfHtaE-g2 7 Aidie TEi e HRAR HuE
¥ 7 U T FHIS T A0 FEEEE S0 el ¥09 U TR e sere EE o A,

(@) WL TRl 3T fafed wed a8 Tuea-al 3UTANe B Weyfeda o aiel AT EEe 931
AT AT AT, AT T ITR TSI W0ATYd] SHEAM AU SRS URT- 1 WA S o

FereeT oRe FI0 rravash A
7T U
Wh.201. YA 9 € H0AEG! HI00 Jod: YA el 7
(1) T A W 2y Tvatmg faemarr
(3) TN THHER T (4 T T

B g A IO (3) T UUEIEH WA 3 AR, @Ee W wAe ew 3y fe. awd
WA T . 201 FHE F-waE ()" € ad@ it wEifen wE qafan ey

v520L D @ @ @
1 TETRHETEANS e ade Qoo wrEifhd FET SREad gTeRiiar thad Siear e
AT aad, Ufaes |1 vee U Juws 9.
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